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Time : Three hours ° A Maximum : 75 marks

PA_RT A — (10 X 2 = 20 marks)
Answer any TEN questions. |

What do you mean by Independenf Branch?

selss aE]cmérr_ eranugen CummerT wimg)?

State any two features of Dependent Branch.

'Gfrfrﬁﬂ@é;@m dewarder  Apufudyseiey gCsaybd @rarrgemen
GINTAICES

Pass journal in the books of Head office under debtors system for
the following transaction :

Goods sent to branch at cost Rs. 50,000.

&G Qer(ésuul L pLaigsmsss DML Siieiassern erhsafla
sLenmaflger pepuded GHILCLL R udlmar smes.

Slevaré @ L sselaauller 7é@E Siguug op. 50,000.
What is a Department?
SO GTeTLIS WTE?

What should be the basis of allocation for the following expenses
under Departmental Accounting?

(a) Labour Welfare Expenses
(b) Factory Manager’s Salary.

gmpeaurfl sansfwelled &ECp Qar@Gssiiul (Herer Qseeysar  erhs
<lgtinem e YAsselsaiiuBHpg ?

(=) Qsmflerert pos Ceaweser
(=) Gsmflparene Cerarilen oardluilb.
What is Hire Purchase System?

aurLana QETeTpSe (oD Grshg)nsb GTEuTen?
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10.

11.

12.

13.

14.

What do you understand by Hire Purchase Price?

- aurLens Qamempsed eflanay eratig LD BalliT oiflalg wirg?

State any two differences between Hire Purchase system and
Installment Purchase systerh. ’

QUTLe0& QETETIPSED (PEDEGLD é;m.]cmovr Qanm@g,m (PEODEGLD neTar
Geumur@safler rCoanid @) awTiq et Famis.
What is Sacrificing Ratio?
Hwrs Nsd erenpTed eTewTEn?
What are the adjustments to be made when a partner is retired?
@ smlLreal ellogbGurg GeuwiinL Gauamgw sl Ldsar
wrenel? ' ‘
What do you mean by Dissolution of a partnership firm?
&L TETEnLO SeDeLIL] GTeLgerm GumhaT wrg)?
What do you understand by ‘Piecemeal Distribution of Cash’?
‘Blaw® garLrs Qrrssnd . MEICUrsLLBSSD eretug upd Bedr
2ifleug) wmg? -

PART B — (56 x 5 = 25 marks)

- Answer any FIVE questions.

‘Explain the Stock and Debtors System in Branch Accouhti‘ng.

dlenens sasdlwadled Fré@ HDIb sLameflaer wpam LUDHH efersEEs.

The Kanpur Shoe Company opened a Branch at Delhi in 2017.
From the following particulars prepare Delhi Branch Account for
the year 2017.

| Rs. ‘
Goods sent to Branch 15,000

Cash sent to branch for expenses 6,000
Cash receijved from the branch 24,000

Stock on 31-12-2017 2,300
Petty Cash in hand 40
‘ \
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The partnership is dissolved and the assets are reahzed as
follows :

1st Realisation Rs. 40,000

2nd Realisation Rs. 30,000

3rd Realisation Rs. 54,000 . K

4th Realisation Rs. 7,000

Prepare a statement showing how the dlstrlbutlon should be
made. ' : i :

A, B wpmpi C e;;,éﬂ@u.urrr’r @eru ‘r_r,'LL_ggﬁsmm 3: 2 1 erenp eflflgsdd
Llirbg) Caream_ent. Sieuirserng QU flows GHliy lﬁlma.l@mrrg]

QumyiliyseT ¢, Qerggiser .
gLamreriger 50,000 e wpmibd gL dser 70,000
Alén g1 10,000 Qurd wHmih GupHns 40,000
A-ér (PED 50,000 ep&dmLiy 25,000
B-ém wpged 10,000 a&Lanmeflger 20,000
C-én g 40,000 Qprasb 5,000
 1,60,000 160,000

S

Sl TaTenlo Ha&EILL (), &QasmLmngj Qerggisser ellpsiul
GupliulLg. '

wae Sirey AzTens . 40,000
Qrawmiib ey Qgmrens ¢ 30,000
gparpreug Sirey Ggrens . 54,000
prensreugl Siay Ggrews  am. 7,000

GLD(BGD Qar@&Estiu’_Harer ang]a;ma;uS]co Qlyrrasés ué]r'r‘rjagaﬂﬁn_q
uCpuene swrfléEse,wb. "
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" 15.

16:

17.

gren i srey Bl 2017-b ypemged. Qe gm Hoarepws
a;wml_‘ﬂg,g,g,j &Cyp Qasr@ésliu L erer aﬁlugrmexsrﬂsﬁl@;_r;gj 2017-b
e Haren QL6 Slener samafanar swirhés.

€.
anené@ Sia 9w s7éE ' 15,000 -
Qeee|s@EnsaTs HaarsE Siaiidu Qrrésn 6,000
é\mmuﬂ;ﬂ@;}r@f@uﬁ)m Qprésid 24,000
31-12-2017-éb s7&dlmLLy 2,300
sl Aodewenp Qrrésn 40

Explain the need for Departmental Accounting.

giopaurfl semsfugissTar Sieuflusms alatsEs.

Apportion the following expenses on the basis of cost of goods
sold ratio among the four departments A B CandD:

Sales (Rs.) : A —= 2,00,000; B - 150000 C - 100000 :
D —4,50,000 GP ratio: 20% on Sales.

Expenses : Salaries Rs. 6,000; Rent and Rates Rs 1,50_0;
Insurance Rs. 1,300 '

&Cip Qar@ssuUl Heter  Qsoaysamer 6@ clpumen L&
dlflssfld A, B, C wpmid D <pdwu mréng BIDPEEHHGLD
“iflssefldaeyd.

ofipuenar () A — 2,00,000, B — 150,000, C - 1,00,000,
D - 4,50,000 \ .

Qrgs @emu el : eflprienanuder 20%

Geaayser : sbued @. 6,000, eurems wHmLD leﬂ 5. 1, 500 NN ()
5. 1,300. '

On 1-1-2017, X purchased machinery on h1re purchase system.
The payment is to be made Rs. 4,000 down (on signing. of the
contract) and Rs. 4,000 annually for three years. The cash price
of the machinery is Rs. 14,900 and the rate of interest is 5%.
Calculate the interest in each year’s installment.

1.1.2017-b yparged X eremueuii eurL_ong Qarearpsed papuie
@Sy gadlar  armdant. oFHEG OCewiss Ceuemgwl
Agresflmear  @uuUbs @sQUWsHaCury @. 4,000 wHmyid
uBLsEDE . 4,000 seumeans Cgrepswirs epemm UL Bl S(EBEE
Qa;rr@asa;uul_ Geuaimg gl Sibs QupdHrsdan Qs eflenev ¢ 14,900.
‘Sipen ey e 5% geuGleur® seumeanier aily Ggpreasmu
s &S (Hs.
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18.

19.

A and B were partners sharing profits and losses in the ratio of
4:3. In view of C's admission, they decided to revalue the assets
and liabilities as indicated below :

(a) To increase thé value of bu11d1ngs by Rs 60 000
(b) Provision for doubtful debts to be decreased by Rs. 800

() To decrease machinery by Rs. 16,000; ,Furniture by
Rs. 4,000 and Stock by Rs. 12,000 '

(d) A provision for outsfanding liabilities to be created at
Rs. 800.

Show Revaluation Account.

A opgid B ereitp sall1raflser Qaru sl shear 4 : 3 ereip olfgsdldr -

udlibs| Qasrrcts'm_cdrr'r. C eremueuir. sal L meflwirs CardaliLi@ib Qumps
&Cp EPLAa Ly dergy wpmbd Qurplyseer wHWHAISE
Qelisug) eram (pig e Qa1 g). '
(=) slgLsaflen LD@L'_M em. 60,000 2 wirsgsruL. Ceuamr@ib
(=) eurTEsLer T @85G 5. 800 GanssiiuiL Ceuar@Hib
@) QuidrsHer wHiy . 16,000 sempsedr wHiy @ 4,000
wHmid Fr&S Ly 5. 12,000 gapssiiu. Ceuamr®id
() QsrhuL  Ceuamquws  QuUIgLLGEEE 5. 800 &y
2 (HeurssLuL GouemHib '
| LD@LDQD[S@ saméflamen surflés.

P, Q and R share profits in proportion of 2:1:1. On the date of
dissolution their balance sheet was as follows :

L1ab111t1es Rs. Assets Rs.

Creditors 14,000 Sunciry assets 40,000

P’s'capital - 10,000

Q’s capital 10,000

"‘R’s capital = 6,000

40,000 40,000

The assets realized Rs. 35,500. Creditors were paid in full.
Realisation expenses amounted to Rs. 1,500. Prepare Realisation a/c.
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A bppih B Ha[_I_TI'GTﬂasG‘IT Qaorugdlenar 3:1 eranp eflflgssld Ldibg
Glesmenomeorr. 31.12.2013 gy, aimani_iL 2|6uTsars @il flaea @ pﬁ]uq

&Cp Can@éstiu Berera).
QuimmiiLger e Qars g saar em.

WS ) sr&H ML 10,000
A ! 30,000 epeneni i Qegbdlu srinS® 1,000

B 20,000 sL e 8,000
GarOuL Caamgw sardlwib 5,000 (<) REES : 500 7,500
sLanreTiiaeT 40,000 Qpmésid 18,500
QuiBHrid ~ 22,000
&g L_BIGGET 30,000
DD SEEHT 6,000

95,000 ‘ . 95,000

C  eranuiasiv Ll &'a'r.I_.L_I'I'G‘ﬂU_HT&S SiE@IdGHUUL ), é{@J@GmL_U_I
ardlisne  @ery  ukig |, 1/4- =68 e 20,000 s
agﬁ]@&uu@;‘sgﬂmwﬁ. LR

(<=1) sr&dmly Bsrear Gg,u'_lmrrém:o 5%

(=) siempswen Sgrar Gsuiwrend 10%

(@) sl rser . 45,000 eren oSG Qe g
() eupmésien ariiy . 1,000-6@ o wissluL Cauam@n

LOAITLG &/, (50561) assma;@ LDQ)Q]LD @@u-{_;llr_ﬁ]ma)
GO ener swrflGaeb.. . i .

24. A, B and C share profits and losses in the proportlon of 3:2:1.
Their Balam,e Sheet is as follows : ;

L1ab111t1es Rs. Assets " Rs.

Credltors 50,000 Land and Buildings - 70,000
~ A’s Loan 10,000 Plant and Machinery 40,000
A’s Capital 50,000 - Stock 25,000
B’s Capital 10,000 Debtors 20,000
C’s Capital 40,000 Cash | 5,000
1,60,000 1,60,000
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23.

Hm. A GreTLIGUIT B alA@L gL 1b ¢m. 5,60,000-& @@ Quinpdlyssene
aurLang Garemipsed Q,osmmufﬂsv auridam. SiGHETET G]g,nsmasuﬂ]mm
¢h. 1,50,000-g oL anqursed BF LeTEMS (PED SeUHETEATTE
geuQaurs eumL @midluded en. 1,50,000 GeayssLiuL Couamdib. e
Qgrr‘é,ﬁebj g 10% Gg,ujmlwmgmg, UBLSIDEG GnHg Qs LHUTH
apepulled saurddlL L. f

S®. A eremueui 2L e LHMD PIOTD Bl GnHule s

Seumans Ggransmyu degigdu bYng B Ap@masyuiear sryamroms

QrerLreug seumans Asresou Qeass @uaaidama. samme
ppeuit 2ips dersdenear a1 2.LméE T (S8 Qeampmi.
Quamparw  ghseflgd  Csemeuwrer CUCILE  sams@asamen
swirflaselo. . -

A and B are partners sharing profits in the ratio of 3:1. Their
Balance Sheet stood as under on 31.12.2013 :

Liabilitieé Rs. Assets Rs.

Capital : Stock 10,000
A © 30,000 Prepaid insurance 1,000

B 20,000 Debtors 8,000
Salary due 5,000 Less; : Provision 500 7,500
' Creditors 40,000 Cash 18,500
Machinery 22,000
( Buildings = 30,000
Furniture ‘ ‘ 6,000
95,000 95,000

C is admitted as a ‘new partner introducing a capital of

Rs 20 000 for his 1/4t» share in future profit.

Following revaluation is made :

(a) Stock be depreciéted by 5% ,

(b) Furniture be depreciated by 10%

(¢c) Building be revalued at Rs. 45,000

(d) The provision for doubtful debts should be increased to

Rs. 1,000. : ‘
Prepare Revaluation A/c, Capital A/c and Balance sheet.
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20.

P, Q wppgd R eaueirsdsr @aorugdmer 2:1:1 eremp eézs8d
uélipg QareawmLent. Hyeuar smetber Gumrgl <igem  QBLIY
Bleveogdiiiy Qemeupomm.

Qurmiliyser  em. Q&rrggﬂé;asdT .
sLammariger 14,000 upue Qerggeer 40,000
P s 10,000
Q wsd 1’0,000
R wpse 6,000

40,000 40,000

5. 35,500-@ Qersgsdr efhsiiuig). ELETETT&HEHES (P(HEUFILONE
Q&ng,g,uuu_gj gLy s Qgrans . 1,500. Siey sansfamer
swrféEs.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

The Calcutta Commercial Company invoiced goods to its
Jamshedpur Branch at cost. The Head office pa1d all the branch
expenses from its bank except petty cash expenses which were
paid by the branch. From the followmg details relating to the
Branch. Prepare

(a) Branch Stock Account
(b) Branch Debtors Account
(0 Branch Expenses Account

(d) Branch Profit and Loss Accéount.

Particulars Rs. Particulars Rs.
Stog_k (Opening) ' 21,000 Discount to Customers 4,200
Debtors (Opening) 37,800 Bad Debts Lt - 1,800
‘ Petty Cash (Opening) , 600 Goods returned by customers
Goods sent from H.O 78,000 to branch | 1,500 -
Goods returned to H.O. 3,000 Salaries and Wages . 18,600
Cash .Sales 52,500 Rent and Rates ' 3,600
Advertisement 2,400 Debtors (C.losing) i . 29,400
Cash received from debtors 85,500 Petty Cash (Closing) 300
Stock (Closing) 19,500 Credit Sales p 85,200
Allowances to Customers 600 /
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05551 emils Hmwb @b LT SHamerss L IIL&&
dlenauflery srHE@EMmer  S@Ubuigl. deaerulen Howerp Qprés
Qeovasmers s6ly LHM CFQe ST ADATSHID FHOEMD HEIEIWED
sangl audluder ppad CegisHug. ECp Qar@asiul@erar Seamer
FbUBSUL L g5euhseladmbg :

(=1) Sloner gr&E samTaE

(<) Slewar a;l_mmﬁasdT EEMTEHS)
(@) Slener Qraeyser HamsE
(

) Slener @eorur BLL sewré@ 2 Sweupiener Swrflés.

e LIgRISET . Uy gGer (.

&r&E (HLIL (<, TdLr) 21,000 aumg Senswirarig@nésner au_L b 4,200
sSLanefl&er (<, mLoLr) 37,800 eupn&si_ei 1,800
Slevavenry QIIHié;&BLb (<2pybu) i 600 eurmig &enswl rre.m'résdT e%].mmé;@ 500
S DAIGUEHS LD QUDD SmU9 etnbw srée '

EIE1G) 78,000 sbLemD WHmID Hned 18,600
SEDELD &@1@6\)&5@1&3@ ‘ Qum_ena LOHMILD euifl | 3,600
SHpUd oeiGu sr&G 3,000 g1_anmmefa:a (@nd) . 09,400
Qrrés eflpuenar 52,500 fleveveny Qrrésd (Qmid) 3(?0
efembLyLd 2,400 e 6SmL1anen 85,200

sLanmaflseflb Qupp Gyrésn 85,500

sr&fmuy (Qmid) 19,500
QUG SE@SWITETT LIg&eT ' 600
21. Mehta Ram of Ram Nagar purchased goods for his three

departments as follows. ,

Dept. X — 200 units

Dept. Y — 1400 units TCI){t;l;OngOf
Dept.Z ~— 400 units
Sales of the three departments were as follows :
Dept. X — 180 units @ Rs. 15 per unit
Dept. Y — 1500 units @ Rs. 18 per unit
Dept.Z — 450 units @ Rs. 6 per uﬁit
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Other information about stock in the beginning was as follows :

Dept. X - 100 units
Dept. Y = 400 units
Dept.Z — 60 units

Mehta Ram informs you that the rate of Gross profit is the same
in all department. You are required to prepare departmental
trading accounts.

TD B& &THS GLOGST TID GTEILIGUT SEMEIENLLLI APETN FIDEEHEE
Er&@E@en Wemeupomrm Qarerpsed Qaug.

geopX - 200 ie@ser

) Qorss SIL&5
sgeopY - 1400 oe@ser sSeve . 5,100
g Z - 400 si@ser

gpeml glenmsatien efHener emeu(HLOmD) :

geopX - 180 é{@@&;dT. DIV RETM (1. 15 aigd
geopyY - 1500 orev@sar, SiaE qenm . 18 eisb -
geopZ - . 450 sv@sdn, 2@ e . 6 eisb
QAsrLs&s sradl iy efurtisdr Gemeumomy :

geopX - 106 S|VGSHET

geopyY - 400 i@ ser

sgeomZ - 60 s@sen

F CugsT TTD @mass slonsehéster Qurss Georu dsb eGr

wréflureng) eren QsfedsHpri. el gepeurf elwrunry savsdmen
BWTH&&EeyLD.

Mr. A purchased a machine from B Ltd. for Rs. 5,60,000,
payment to be made Rs. 1,50,000 down and three installments of

Rs. 1,50,000 each at the end of each year. He depreciates the
asset at 10% per annum on written down value method.

Because of financial difficulties, Mr. A after having paid down

. payment and first installment at the end of the first year, could

not pay second installment and the seller took possession of the
asset.

[

"Open ledger accounts in the books of both parties to record the

transactions.
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